Muon calibration check

# try to check how precise is the position
measurement

# only CU horizontal runs (700002462,2463)
#® TkrlZDir<-0.9 and CalEnergyRaw cut
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For each crystal
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Summary tower 2

halle Position hallp
Entries 96 Entries 96
F Mean 11.92 C Mean 0.1913
25 N RMS  0.2044 18— RMS  3.732
I 16
201 14F
[ 12
15 C
i 10
i 8:—
10_— r
o 6
5 4
i _|_|—‘ i ]
-I IIIII 11 IIIIII :IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
91 2124126128 13 % 15 10 5 0 5 10 15 20
| Position sigma | hallsi Slope*300 halls
Entries 96 Entries 96
22r Mean  10.37 O Mean -2.102
r RMS 2757 18— RMS  4.488
20 C
18F 16:—
16F 14f
14F 12
12:_ _ 10__
10F sF
8f C
C 6
6__ r
aF AF
2F ’7 2F
O:IIIII IIIIIIIIII III 1 1 :IIIIIIIIIIIIIIIIIIIIIIIIIIImlllllll
0 5 10 15 20 25 9ZO -15 -10 -5 0 5 10 15 20

Ph. Bruel - Beamtest meeting - 20/12/2006 — p.7/11



Correlationstower 2

| Mean position vs energy | | Slope*300 vs energy |
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Summary tower 3
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Correlationstower 3

| Mean position vs energy |
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Conclusion

# need to analyse the CU vertical runs (700000491 to 500) :
problems with processing the data

# naive question to Santa Claus (or rather to Babbo Natale..)
. 1S It possible to put the CU in the vertical position and take
cosmic data ?
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